[ Efficiency vs vertpos |

—_

0.5

20.45

[
>
>

0.4

9
$0.35

ettic

Ratio

0.3

0.25

0.2

0.15

0.1

0.05

£

1.0

&
A
s

o
©
a

=
2
N

10 1 10 0?
TP vertr (cr%)

=== DQM VOUUUI_RUUU00U00UT —Global—CMSSW_oTTg
—e— DQM_V0001_R000000001__Global _CMSSW_X_Y Z_ all7

[Efficiend —— DQM_V0001"R000000001 —Global —CMSSW_hptge
—— DOM_V0001_R000000001_Global _CMSSW_dt08

N
—

efticiency vs ver

Ratio

1.2

1

0.8

0.6

0.4

0.2

Vs

[y

TTTT] T
5
%
A
.
.
A

0.95!

30 -20 -10 0 10 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |

~ 0.05

>
50.045

£

=0.04
%.035
ey
20.03
@
8.025
(]
0.02
0.015

0.0

0.005

Jo| AP I I ] ] ] ] ]
| =

208 6 -4-20 2 4 6 8 10

Sim. PV z (cm)




	Contents
	Page 1


